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T: FTMS {1,1} + p ESI Full ms [100.00-1000.00]

332.2004
C23 Hos O N=2332.2009
100 -1.3980 ppm

90

80
o 70
(&)
% $T020101
- 60 MW 331.459
c
>
£ 50
o
=
T 40
(0]
1'd 30 4541478

C2ooH22 07 N4 =454.1483
20 -1.1713 ppm
685.3757
10 C30Hs57 015 N2 =685.3753
0 0-51 14 ppm 859.8661 976.3175
100 200 300 400 500 600 700 800 900 1000

m/z



D:\data\Pete\Timtec_ST0011282_2 2/8/2018 10:28:53 AM

C:\Xcaliburmethods\walkup\10min_0395A05M_pn.meth

RT: 0.00 - 9.98
NL: 6.81E5
Channel A UV
5 500000 Timtec_ST0011282_2
< 0.66 3.79
> Lo 3'72 77 7 483 597 733
i, "% 220 *77 | 14
1000000 0.63 (g4 ' 3.87 461 Channel B UV
<3E m 1.01 376 M 463 600 6.93 5.98 Timtec_ST0011282_2
500000 1.19 \
0 kbl ! —MMMMWWM” «C 3 80 AW»J,:‘L“AL‘N«MMM—W‘“WWNL_ 8.73E5
3.80 | 3.51 Channel C UV
5 378 J 3 82 Timtec_ST001 1282_2
500000
<-_Es 3.77 ‘3 -84 459
0 075 1.57 203 332 | 473 6.92 7.34 862 9.12
h ‘ 348 NL: 1.20E7
100 072 145 TIC F: FTMS {1,1} + p ESI
503 Full ms [100.00-1000.00] MS
50 : Timtec_ST0011282_2
172 293 3716 8.03
ot 563 761 77 831
0 2 4 6 8
Time (min)
332.2007 NL: 2.90E5
C23 H2s O N = 332.2009 Timtec_ST0011282_2#149
-0.1684 ppm 159 RT:3.71-3.94 AV: 6
o 100 T: FTMS {1,1} + p ESI Full
O lock ms [100.00-1000.00]
S 80
€ 50 257.9776
< C1006 o = 267 9762 CroHa O rs No = 447 9729
o 40 -0.5599 ppm 1014 15 Vo = =l
= -0.1939 ppm
S 20
o | |
0 N Ll | | L \‘
NL: 1.77E5
Timtec_ST0011282_2#202
318.2401 419.0769 208 RT: 4.98-5.07 AV: 3
100 Co2oH13ON4F2S=419.0773 T: FTMS {1,1} + p ESI Full
80 -0.8392 ppm lock ms [100.00-1000.00]
60 282.2789
40
g
O Utbatis H‘.\ " \’H i L L \” Loadll o Al \MM bl Wbt Ml ol F
200 250 300 350 400 450 500

m/z

ST011282
MW 418.43



	ST020101 10mg 2014 Taber Lewis LCMS-ELS-with structure-1
	ST011282 10mg resupply 2014 LC-MS Taber Lewis with structure-1

